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Unit 76: Management Mathematics                     Assignment – 1                      
Answer all the following questions:  
 
 

 
 
             X = A  C∩Bc ∩
             Y = C  Ac ∩  Bc ∩
             Z = B CC ∩
              Unshaded region : (B∩C) ∪  (A∩Bc∩Cc) 

 
i)                                                           ii) 

 
 
 



 
 

iii)                                                           iv)  
 

        
                                      
             n(A) = 50 , n(B) = 30 , n(C) = 40 , n(A∩B) = 15  
               n(BUC) = 62 , n(AUC) = 70  
               n(BUC) = n(B) + n(C) – n(B∩C)  
              ⇒   n(B∩C)  =  30+40 – 62 = 8                    
               n(AUC) = n(A) + n(C) – n(A∩C)  
              ⇒   n(A∩C)  = 50+40 – 70 = 20 
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              i)       15 + x > 0 ⇒  x > - 15  
                 15 – x > 0 ⇒  x < 15  
                 7 + x > 0 ⇒  x > - 7  
                 x > 0  
                 20 – x > 0 ⇒  x < 20  
                 8 – x > 0 ⇒  x < 8  
                 12 + x > 0  x > - 12  ⇒
                  23 – x > 0 ⇒  x < 23  
 Ignore all negative values :   0 < x < 8  
         ii) n ( Ac∩Bc∩Cc) = 23 – x   and  0 < x < 8  
             - 8 < x < 0  ⇒  23 – 8 < 23 – x < 23 – 0 ⇒  15 < 23 – x <23  
             Minimum order = 23 – 8 =15 , Maximum order = 23 - 0 = 23  
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               From the diagram : 71 fleet cars showed no faults. 
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Faulty steering (S) , which always results in the car having faulty tyres  S T  ⇒ ⊂
 
n(S) = 10% of 500 = 50  
 
Faulty tyres not due to faulty steering : T Sc  ∩
  
No other faults : T Sc Ec  Bc ∩ ∩ ∩
 
                            B                              E              
S∩B E=∩ φ       130          48            140 

 
                                   15 
                        10                  16                       
                            
                                S     50       70 

 T Sc Ec  Bc                         T                71  ∩ ∩ ∩
 
 n(T∩ (S E  B)c )=111 – (10 + 15 + 16 + 50)= 20 Minimum U U or 70 – 50 = 20                                  
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                      B                              E              
                  130            48            x – 79                  x-(48+15+16) 
 
                                     15 
                         10                  16                       
                         
                                    70 
                                             T          500-(130+48+x-79+15+10+16+70) = 290 - x                                          

 
Since n(E)= 219 is the only error , the only affected areas are : E∩  Bc ∩ Tc ( E only) 
 
and the area outside the three sets : Ec  Bc ∩ ∩ Tc 

 
let n(E) = x  n(E∩  Bc Tc) = x-(48+15+16) = x - 79 ⇒ ∩
 
x - 79  0  x  79   ,  minimum n(E) = 79 ≥ ⇒ ≥
 
290 – x   0  x  290  ,  maximum n(E) = 290  ≥ ⇒ ≤



 

 
I) (E Tc )  B : Cars having exhaust faulty but not tyre faulty or cars with brake faulty.  ∩ U
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       n[(E∩ Tc )  B] = 130 + 48 + 140 + 25 = 343 U
 
 
II) (BU T ) Sc : cars that are either with brake faulty or tyre faulty and not with steering faulty.  ∩
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n(B T ) =  n(B) + n(T) – n(B∩ T) U
n[(B T ) Sc] = n(B) + n(T) – n(B T) – n(S)  U ∩ ∩
                            = 203 + 211 – 25 – 50 = 339  
 
 
 

 
 

                                             END of QUESTIONS 
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